Translation Terminated.
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Write the letter corresponding to the correct answer on the lines above. If you have the letters in the correct
order, they will spell a word that means, “Opposition to the withdrawal of state support or recognition from an
established church, especially the Anglican Church in 19™-century England.”

Question

Twice a number

8 increased by a number

10 minus a number

10 subtracted by a number

The quotient of 6 and a number

Eight more than a number

The sum of three and a number

The total of a number and eight

The difference of a number and five hundred

Twenty decreased by a number

A number less thirty
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The product of 512 and a number
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A number times twenty
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The quotient of eight and a number
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A number divided by 11
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The sum of 17 and a number added to the product of five and the number.

-
\‘

The quotient of twenty and a number, decreased by three
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The product of five and a number
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The difference of twice a number, and four
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A number subtracted from 11
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Twelve subtracted from a number
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A number less 5
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The sum of a number and 7
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6 divided by a number
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The product of a number and 7
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Fifty decreased by eight times a number
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Twenty decreased by twice a number
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Four more than 3 times a number




Answer

Letter

2X

x—30

X—12

6/x

512x

X/6

X+ 8

5Xx

5x + (17 + x)

x—10

X+ 8

8/x

X+7

50 — 8x

20X

20/x — 3

3Xx+4

8 + X

2X -4

X

X—-5

3+X

X —500

x/11

20 — 2x

10 — x

20 — X

11 — X
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